110.00 46.40
[4.33] 98.00 [1.83] =
[3.86] (INSIDE HEIGHT) 4.53
[.18]
P 1 71 ﬁ
75.00
[2.95] a60 ||| 100
. [.04]
A 6260 (18] 65.32
A [2.46] [2.57]
— (INSIDE
WIDTH)
\T M‘i‘
—=B 55.00
TOP VIEW [2.17]
SECTION B-B
END VIEW
15.00 10.40
[.59] [41] 1.50 9378020
% ( [.06] [3-82] 89.00
[ S ‘ s200 B50
f I [3.23]
40.00 29.00
K3 [1.57] [1.14]
ey | i @ |-
4.50 16.50 5 STEEL INNER PANEL d [-20] US LISTED
99.92 (18] [.65] SOLD SEPERATLY 62.00 FILE #E65324
— [3.93] — [2.44] NEMA 4, 4X
(INSIDE LENGTH) W ( Enclosures can be Factory Modified ( Milling, Drilling, Printing etc.)
‘ Contact Factory mjm@hammondmfg.com for quotes
SECTION A-A 750 Solid models of this enclosure available in STEP or IGES.
SIDE VIEW 1 "L30] e 4o mot recormmend using them as a ocating reference for mocoation porposes)
NOTE
99.92 Purchased assembly includes Box, Lid, Gasket and 4 cover screws
[3.93] 98.00 Enclosure Molded from Glass Reinforced Polyester
?36.705] 85.39 [3.86] Screw Should Not be Torqued Past 6-7.5 Ibf.in (70-85 cN.m)
: 78.00 ACCEPTS [3.36]
L0 M4 x 0.7 SCREW 80.00
13.07] [3.15] PART NUMBERS
) d A 1590ZGRP082 Enclosure
.61
[1.13] Cﬂ &0 8.00 (ﬁ 32.00 8.00 ka AC
‘ CESSORIES
[.31] 744 [1.26] [.31] ‘ 45.00 Copper Ground Hardware (2 Pack)
60.51 . (0] \) | | 'O |l s2:23 (177 [M4 - 0.7 X 6mm / M4 Washer] SCGM4
[2.38] ’ Cc 3 , [1.27] 65.97 Steel Inner Panel 1590ZGRP082PL
4.80 lL ACCEPTS 1 [2.60] Hinge Kit (2 Pack) 1427HK
Ow (O L9 - \1 M3 x 0.5 SCREW ( L —— e ————————
o bo —~ o i HAMMOND
SECTION C-C c N
72.40
INSIDE LID MOUNTING HOLE 7 MANUFACTURING .
ACCEPTS M4x0.7 E]'r':e"m"s 1 59026 RP082
SCREW INSIDE BOX [inches] www.hammondmfg.com




	1590ZGRP082

